1 STAGE 44 TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED

o 2000  —3.17 ABRASION |[NONE [LIGHT [MEDIUM [HEAVY
i ~ Hr MAX. PRESS| 75 | 60 35 15
HHHHHH : MAX. SPEED| 600 | 450 300 150
5 : R T TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
250 = = ‘ 1750  q2.78 cPs [100 [1000 [2500 [5000 [10,000 [50,000 100,000 [ 150,000 | 200,000
L L = N -
il SR T T TR 1 TQ |203]590 | 900 1248 | 1700 | 3600 | 4960 6000 6440
. TR TR RPM|600] 600 | 600 | 600 | 320 | 80 40 30 25
e T T i TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)
200 S aas s 1500 -2.38
- LT ST T NOTE: MAXIMUM PARTICLE SIZE 1.0 INCH
Sanses T i H @ s SIZE FINE MEDIUM COARSE
3 PP = e 1% 01" 70 .04" | .04" TO .08" |.08" & LARGER
o T iha = o 10 248 277 395
. . 1250 — -1.98
g 0 . < " e 30 745 831 1185
300 N S < a 50 1242 1385 1975
TEaa i s S o TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
s H s 41.59 SF
L <0 . 1969 70 [100 | 125|150 [175 | 200{230| 250 275|300 | 350
& Saue 2 ROTOR
< ans STD |1.0[11 [1.3]16[18
T Himnmac Sauid SGL_UIS 11]13]16[1.8]2.0
50 i s ] 750  -41.19 DBL U/S 1011 [1.3]1.6 [1.8
ST BT ' 1) DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
T SR FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
] TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
o ¥ 500 .793 ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
0 10 20 30 40 50 60 70 80 AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
A URE (PSIG ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
DI TIAL REEElRE | 1518 THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.
RPM |NPSHR (FT) B TR T 2) FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
2 TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
100 1.2 CURVE BASED ON 70°F WATER THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
s 23 —70(TDQU)F?SPM§)TER --50 DUROMETER CORRECTED STARTING TORQUE.
HP = ~g5p5e— COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
300 3.4 TORQUE WILL BE THE GREATER OF THE TWO.
400 5.6
500 8.4 71X44
600 1.2
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2 STAGE 44 TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
300 T 3500  45.55 ABRASION [NONE [LIGHT [MEDIUM [HEAVY
BERRLRRRRIARRRES HHHT HEHTTT T MAX. PRESS| 150 | 120 | 70 30
H H . 1 MAX. SPEED| 600 [ 450 | 300 150
gresnn e HHHT A TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
250 ' : nrsae T 3000  4.76 CPS [100 1000 | 2500 [5000 10,000 [50,000] 100,000 [ 150,000 | 200,000
1T : T T AT TQ [406 |1180 [ 1800 [2496 | 3400 | 7200 | 9920 [ 12,000 | 12,880
TR T T T ] RPM|600 600 [ 600 | 600 | 320 | 80 40 30 25
g T N , S !
200 Pt g b5d8 : i 00 43.97 TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)
T R T T HH _ NOTE: MAXIMUM PARTICLE SIZE 1.0 INCH
paass o Riane s SanRmRRRRRERREY 3 5 SIZE [ FINE MEDIUM COARSE
T g TR > T [ % 01" 70 .04" | .04" TO .08" |.08" & LARGER
= . i Eiiaam._iteiat 2000 = 43.17 © 10 328 365 521
5 S 1% T T w e 30 983 1096 1564
0 / s S a 50 1639 1827 2606
AT R LT = TABLE D STARTING TORQUE MULTIPLIERS [IN/LB) FOR TEMPERATURE
100 Ht o= 1500  -2.38 °F
g H - 7 75| 200|230 [ 250|275
B ane rinaas i o 0 {100 {125 150 (175 | 200|230 | 250| 275|300 |350
2=t sto_[10[1a[13]1.6]18
S Eeuae S SGL UI/S 1.1 [1.3[1.6]1.8]2.0
50 T 5 iin3 =g 1000 1.9 DBL U/S 1.0]11]1.3{1.6 [1.8
§ EiEuanaza ot 1) DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
3 Bidunnnt FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
inect TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
0 500  -.793 ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
0 20 40 60 80 100 120 140 160 AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
DIFFERENTIAL PRESSURE (PSIG) ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
2o e THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.
RPM |NPSHR (FT) i T 2) FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
e TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
CURVE BASED ON 70°F WATER
100 1.2 20 DUROMETER - —-50 DUROMETER THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
200 2.3 (TQ) (RPM) CORRECTED STARTING TORQUE.
300 3.4 HP= 53025 COMPARE THE RESULTS FROM STEPS 1 AND 2., THE REQUIRED
: TORQUE WILL BE THE GREATER OF THE TWO.
400 5.6
500 8.4 72X L4,
600 11.2
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DIFFERENTIAL PRESSURE (PSIG)
STARTING TORQUE 3588 IN/LB
RPM |NPSHR (FT) SEE GENERAL INSTRUCTIONS
100 12 CURVE BASED ON 70°F WATER
—70 DUROMETER --50 DUROMETER
200 2.3 Wp - \TQ) (RPM)
300 3.4 T 63025
400 5.6
500 8.4
600 1.2

(IN/LB)

TORQUE

9.52

7.93

6.35

4L.76

3.17

1.59

HP /100 RPM

1)

2)

TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED
ABRASION |NONE |LIGHT |MEDIUM [HEAVY
MAX. PRESS| 225 | 180 105 45
MAX. SPEED| 600 | 450 300 150

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS {100 1000 | 2500 | 5000 |10,000 {50,000 | 100,000 | 150,000 | 200,000
TQ |609 |1770| 2700 | 3744 | 5100 {10,800 14,880 | 18,000 | 19,320
RPM|600 | 600 | 600 | 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE 1.0 INCH
SIZE FINE MEDIUM COARSE
% .01 70 .04” | .04" TO .08” |.08" & LARGER
10 385 430 613
30 1156 1289 1839
50 1927 2149 3065
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
°F
SOTOR 70 [100 [125 [150 |175 | 200{230|250| 275|300 | 350
STD  [1.0]11 [1.3]1.6[1.8
SGL U/S 11 [1.3]16]1.8]2.0
DBL U/S 1,011 [1.3[1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2, THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWO.

73X44





